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Note: (a) All questions are compulsory,

(b) The candidate is allowed to make Suitable numeric assumptions whegef%r quliF

Jor solving problems
.No Question B CO | Marks
Q1 A uniform long rod AB (Fig. 1) of length 6x weighggg M is “held | 1 3
horizontaily by two strong vertical strings at its two ends, 1%\ 150t of M,
is hanging on the rod at a distance 2x from A and another weight My (M, >
{ M, ) is hanging at a distance x from end B. Find th ﬁﬁb
Fig. 1
Q2 A cantilever beam gﬁlgngth 9m is subjected to loading conditions as shown | 1 3
in Fig. 2. Compute the reactions generated at fixed end. :
R 100N
Fig. 2
Q3. | A beam hinged at one end and roller on other end is subjected to following | | 4
loading conditions as shown in the Fig 3. Calculate the support reactions
generated if UDL is 5kN/m
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Q4.

Short answer types

a) Explain the concept of resolution of a force into forqq\and 2 qouple

i

b) Explain the concept of the moment of a force. }} satkit be represented

.;ﬁr

¢) What do you mean by a smplest perfeegﬁatm; ahd a perfect frame? For
h ther the truss is perfect,
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